

COUNTY OF MONMOUTH STATE OF NEW JERSEY

FURNISH TRASH REMOVAL AND DUMPSTERS FOR VARIOUS MONMOUTH COUNTY LOCATIONS FOR THE PERIOD JANUARY 1, 2022 THROUGH DECEMBER 31, 2023 F-1-2022

INCLUDES:

NOTICE TO BIDDERS
GENERAL CONDITIONS
EEO LANGUAGE
EEO QUESTIONNAIRE
BUSINESS REGISTRATION REQUIREMENTS
STATEMENT OF OWNERSHIP
IRAN DISCLOSURE FORM
ANTI-DISCRIMINATION IN EMPLOYMENT

NON-COLLUSION AFFIDAVIT
SAMPLE CONSENT OF SURETY
ADDENDUM ACKNOWLEDGEMENT
BID DOCUMENT CHECKLIST
REQUEST FOR BID
ADDITIONAL SPECIFICATIONS (if any)
SIGNATURE PAGE
AMERICANS WITH DISABILITIES ACT

AUTHORIZED: May 13, 2021

ADVERTISED: July 8, 2021

THOMAS A. ARNONE
DIRECTOR OF THE BOARD OF COUNTY COMMISSIONERS

MARION MASNICK CLERK OF THE BOARD

TERI O'CONNOR
COUNTY ADMINISTRATOR

HELEN P. FIORE
DIRECTOR OF PURCHASING

NAME OF BIDDER:	Waste Management	of New Jers	ey, Inc.	
ADDRESS:	107 Silvia Street			
_	Ewing, NJ 08628			
Phone:	609-352-8362	Fax: _	866-331-8470	

PLEASE INCLUDE ONE (1) UNBOUND ORIGINAL BID WITH SIGNATURE(S) AND TWO COPIES

County of Monmouth REQUEST FOR BID

---- This is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo 732-431-7370 x7381

FURNISH TRASH REMOVAL AND DUMPSTERS FOR VARIOUS MONMOUTH COUNTY LOCATIONS FOR THE PERIOD JANUARY 1, 2022 THROUGH DECEMBER 31, 2023

RFB must be received no later than:	September 15, 2021 10:30AM

For Delivery to: AS INDICATED IN JOB SPECIFICATIONS

Delivery Date: 1/1/2022 - 12/31/2023

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
1	FLEET SERVICES 250 CENTER STREET FREEHOLD, NEW JERSEY 07728 (1) 6 YARD - 2 DAYS A WEEK	24 MONTH(S)	\$300.00	\$7,200.00
2	FLEET SERVICES BODY SHOP BUILDING C 250 CENTER STREET FREEHOLD, NEW JERSEY 07728 (1) 4 YARD - 1 DAY A WEEK	24 MONTH(S)	\$181.00	\$4,344.00
3	POLICE ACADEMY 2000 KOZLOSKI ROAD FREEHOLD, NEW JERSEY 07728 (1) 8 YARD - 3 DAYS A WEEK	24 MONTH(S)	\$541.00	\$12,984.00
4	COURTHOUSE 71 MONUMENT PARK FREEHOLD, NEW JERSEY 07728 (2) 8 YARD - 5 DAYS A WEEK	24 MONTH(S)	\$1,621.00	\$38,904.00
5	CORRECTIONAL INSTITUTION 1 WATERWORKS ROAD FREEHOLD, NEW JERSEY 07728 (3) 8 YARD - 6 DAYS A WEEK	24 MONTH(S)	\$5,278.00	\$126,672.00
6	CORRECTIONAL INSTITUTION 1 WATERWORKS ROAD FREEHOLD, NEW JERSEY 07728 (1) 4 YARD - 5 DAYS A WEEK	24 MONTH(S)	\$750.00	\$18,000.00
7	HALL OF RECORDS 1 E. MAIN STREET FREEHOLD, NEW JERSEY 07728 (1) 8 YARD - 3 DAYS A WEEK	24 MONTH(S)	\$541.00	\$12,984.00
8	FIRE ACADEMY 1027 HIGHWAY 33 EAST FREEHOLD, NEW JERSEY 07728 (1) 6 YARD - 3 DAYS A WEEK	24 MONTH(S)	\$493.00	\$11,832.00

County of Monmouth

REQUEST FOR BID

---- This is Not An Order -----



Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo 732-431-7370 x7381

FURNISH TRASH REMOVAL AND DUMPSTERS FOR VARIOUS MONMOUTH COUNTY LOCATIONS FOR THE PERIOD JANUARY 1, 2022 THROUGH DECEMBER 31, 2023

ITEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
9	PUBLIC WORKS COMPLEX 240 CENTER STREET FREEHOLD, NEW JERSEY 067728 (2) 8 YARD - 2 DAYS A WEEK	24 MONTH(S)	\$668.00	\$16,032.0
10	HUMAN SERVICES BUILDING 3000 KOZLOSKI ROAD FREEHOLD, NEW JERSEY 07728 (2) 6 YARD - 2 DAYS A WEEK	24 MONTH(S)	\$535.00	\$12,840.0
11	LIBRARY HEADQUARTERS 125 SYMMES DRIVE MANALAPAN, NEW JERSEY 07726 (1) 6 YARD - 2 DAYS A WEEK	24 MONTH(S)	\$314.00	\$7,536.00
12	SPECIAL SERVICES COMPLEX 300 HALLS MILL ROAD FREEHOLD, NEW JERSEY 07728 (1) 8 YARD - 3 DAYS A WEEK	24 MONTH(S)	\$541.00	\$12,984.00
13	SPECIAL SERVICES COMPLEX 300 HALLS MILL ROAD FREEHOLD, NEW JERSEY 07728 (1) 6 YARD - 3 DAYS A WEEK	24 MONTH(S)	\$347.00	\$8,328.00
14	EASTERN BRANCH LIBRARY 1001 ROUTE #35 SHREWSBURY, NEW JERSEY (1) 6 YARD - 1 DAY A WEEK	24 MONTH(S)	\$175.00	\$4,200.00
15	PROBATION DEPARTMENT 30 MECHANIC STREET FREEHOLD, NEW JERSEY 07728 (1) 2 YARD - 2 DAYS A WEEK	24 MONTH(S)	\$205.00	\$4,920.00
16	HEALTH DEPARTMENT 50 E. MAIN STREET FREEHOLD, NEW JERSEY 07728	24 MONTH(S)	\$300.00	\$7,200.0
17	(1) 6 YARD - 2 DAYS A WEEK SCAT (END OF GAS ISLAND) 250 CENTER STREET FREEHOLD, NEW JERSEY 07728 (1) 2 YARD - EVERY OTHER WEEK	24 MONTH(S)	\$47.00	\$1,128.0

County of Monmouth

REQUEST FOR BID

---- This is Not An Order -----



Monmouth County Purchasing
Hall of Records, 3rd Floor
1 East Main Street
Freehold, NJ 07728
(732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo 732-431-7370 x7381

FURNISH TRASH REMOVAL AND DUMPSTERS FOR VARIOUS MONMOUTH COUNTY LOCATIONS FOR THE PERIOD JANUARY 1, 2022 THROUGH DECEMBER 31, 2023

ITEM#		QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
18	JERSEYVILLE AVENUE COMPLEX 132 JERSEYVILLE AVENUE FREEHOLD, NEW JERSEY 07728 (2) 8 YARD - 2 DAYS A WEEK	24 MONTH(S)	\$668.00	\$16,032.00
19	FIRING RANGE (BEHIND FIRE ACADEMY) 1027 HIGHWAY 33 EAST FREEHOLD, NEW JERSEY 07728 (1) 4 YARD - 2 DAYS A WEEK	24 MONTH(S)	\$233.00	\$5,592.00
20	COUNTY CLERK 33 MECHANIC STREET FREEHOLD, NEW JERSEY 07728 (1) 4 YARD - 2 DAYS A WEEK	24 MONTH(S)	\$233.00	\$5,592.00
21	MONMOUTH SHORES 1320 WYCKOFF ROAD BUILDING D WALL, NEW JERSEY (1) 4 YARD - 2 DAYS A WEEK	24 MONTH(S)	\$233.00	\$5,592.00
22	AG BUILDING 4000 KOZLOSKI ROAD FREEHOLD, NEW JERSEY 07728 (1) 6 YARD - 2 DAYS A WEEK	24 MONTH(S)	\$300.00	\$7,200.00
23	LINKAGES 4261 HIGHWAY 33 TINTON FALLS, NEW JERSEY 07724 (2) 8 YARD - SIDE ENTRY - 3 DAYS A WEEK	24 MONTH(S)	\$986.00	\$23,664.00
24	MOSQUITO COMMISSION 1901 WAYSIDE ROAD TINTON FALLS, NEW JERSEY 07724 (1) 2 YARD - 1 DAY A WEEK	24 MONTH(S)	\$87.00	\$2,088.00
25	PROBATION DEPT. SEAVIEW SQUARE LOCATION 2407 ROUTE 66 OCEAN TOWNSHIP, NEW JERSEY 07712 (1) 6 YARD - 2 DAYS A WEEK	24 MONTH(S)	\$300.00	\$7,200.00
26	CHILD ADVOCACY CENTER 500 KOZLOSKI ROAD FREEHOLD, NEW JERSEY 07728 (1) 4 YARD - 1 DAY A WEEK	24 MONTH(S)	\$122.00	\$2,928.00
27	STARS BUILDING 119 DUTCH LANE RD FREEHOLD, NEW JERSEY 07728 (1) 4 YARD - 1 DAY A WEEK	24 MONTH(S)	\$122.00	\$2,928.00

County of Monmouth

REQUEST FOR BID

---- This Is Not An Order ----



RFB# F-1-2022

Monmouth County Purchasing Hall of Records, 3rd Floor 1 East Main Street Freehold, NJ 07728 (732) 431-7370 Fax (732) 431-7379

Contact: Rebecca Szabo 732-431-7370 x7381

FURNISH TRASH REMOVAL AND DUMPSTERS FOR VARIOUS MONMOUTH COUNTY LOCATIONS FOR THE PERIOD JANUARY 1, 2022 THROUGH DECEMBER 31, 2023

TEM#	DESCRIPTION	QUANTITY/UNIT	UNIT PRICE	TOTAL PRICE
10	ORT MONMOUTH HOMELESS SHELTER 005 MURPHY DRIVE DCEANPORT, NEW JERSEY 07757 1) 6 YARD - 2 DAYS A WEEK	24 MONTH(S)	\$300.00	\$7,200.00

TOTAL:

***** SEE ATTACHED SPECIFICATION *****

PLEASE SUBMIT ALL INQUIRIES TO: FORMALBIDQUESTIONS@CO.MONMOUTH.NJ.US